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Figure 3-4. General distribution concept
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Table I-1. Percentages for axle weight distribution

Number of Axles per Vehicle | Type of Vehicle | Axle 1 | Axle2 | Axle3 | Axle4 | Axle5 | Axle 6

3 2%Ton 32 34 34
5Ton 26 37 37
5 Semitrailer 14 21 21 22 22

6 Semitrailer 8 22 22 16 16 16
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Figure 2-1. Direct, relay, shuttle, and hub and spoke
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Figure 3-5. Composite truck company (light)
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Figure 2-4. Sections of a convoy
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Figure 2-3. Convoy elements
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Figure I-1. Formulas for axle load weight distribution
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Figure 2-2. Cargo movement through the transportation network
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Figure 3-3. Heavy equipment transport (HET) company
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Figure 3-1. Light medium truck company
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Figure 3-4. Composite truck company (heavy)
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Figure H-2. FBCB2-BFT installed
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Figure H-1. FBCB2-BFT components: key board, monitor, and central processing unit
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Figure 3-2. Medium truck company
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